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Swpblywl spnywdé wwh
PynLptitnwjhb dwiuubph gnpéwrwlwl nwuwlywnoliwh ; wyn pynLd’
Snn| Pw- | fun| 7w | pwdhGGEph, fudptph L nwutiph, hGswbu Gwl pynpbinwyhG

h | dht|tdp| v |6whuubiph nGnbuwghnwlwb nwuwywpgiwb hnnywébbph E(gn_;“f:g[)! Juinswlw $nlnwjhG
NN wijwanLiGlpp ¥ ’ pjniok pjniob
1 2 3| 4 5 6 7 8
CLUUBLL dUkuUEN
20000 X [ X | X (1inn2100+nnn2200+nnn2300+1nnn2400+1nnn2500+1nnn2600+ 4817428,95 | 3194825,45 | 1622603,50

nnn2700+wnn2800+wnnn2900+wnnn3000+wnn3100)

cuNIULNEN PLNFSEP IULNUSPL

2100{ 01 | 0| o ounusnrE3nruute 921041,6 | 8973704 | 236712
(nnn2110+wnnn2120+wnnn2130+nnn2140+wnn2150+wnnn2160+wnnn2170+wn
nn2180)
wjn pynid®

Onbilunpp L gnpdwnfin dupdhlGlbn, wbnwlwl jwrwiywpnid,
Dhtwluwlwl b hwplwpynipbuuwyhl hwpwpbpngintG6n,

2110| 01 1 0 wumuphl hupwpbpnipniG66n

723536,5 7123252 171211,3

npnhag’
OphGunhp L gnpownhp dwndhﬁﬁbn,u;bmmﬂwﬁ uwrzu;QLunnuj

7235365 | 7123252

gl ot 112113

wyn pynid Swluubph ypéwnidp” puwn pjnigbitnwhG dwiuubiph
nlnbuwghnwwl nwuwlwpgiwb hnnjwdébbph

UzfuwnnnGbiph wafuwnwywpdbip b hwybwdswplbp 539 937,2 539 937,2
MuwpglwwnpniiGb wiwywh fupwfuntuncdbtp b hwwnne

L e e sl n . 991160 | 99116,0
Pwnwpwghwyt nwunwlwl L wnwlwld dwewjnnGtph 0.0 0.0
wuwpglwwnpnud ; i

EGpgbwhy SwnwynigyntGhbp 16 400,0 16 400,0 X
Undntbw) SwewnipncGhtip 4500,0 4 500,0 X
LYwwh Gwnwnipyntbbbp 5471,0 5471,0 X
Uwwhnjwgpuwlwh Swfuubip 1 000,0 1 .000,0

ULbipphG gnpénunnuGhip : 600,0 600,0 X
UpnwuwhdwOjwb gnpéninniilbip 0,0 0,0

dwpswlwh dwrwjnipjnLGlbp 0,0 0,0 X
Jwiwlwnqswhb dwnwynipntGGbp 981,0 981,0 X
W2huiwunwywauh dwuliwghun. 2wpgug. Swn. 1 000,0 1.000,0 X
Stnthwwnywlwb swewnipncGhtip 250,0 250,0 X
Lbpywjwgnigswlwh dwuutp 1 .000,0 1 000,0 X
COnhwbnep pGnuph w)p Swnwynigjntlbp 5840,0 5840,0
Uwulwghwnwywh wewjnipntGhbp 1200,0 1 200,0

Ghlpbiph L Ywnnygltph pGpwghy Gnpngnud b wwhwwGned 6 200,0 6 200,0 X
UtiptiGwGEph L uwppwynpnidGtiph pGpwghly Gnpngntd L 57000 57000 X
wwhwwanLd ’ '
Qpuwubljwywihb Gynipbp L hwagniuwin 9520,0 9 520,0 X
Spwluwnpunwh Gyniplip 9200,0 9 200,0 X
LUtGgwnuyhG L hwGpwhG uGGnh Gnupbip 2600,0 2 600,0 X
Swunncy bywunwywihu Unpbn 1 000,0 1 000,0 X
Uy, hwpltip 0,0 0,0

Mwpuwnhp Jdwpbbip 810,0 810,0 X
Chtlptph L 2hGnepyntGGEph Yunnignid 0

Giliptiph L 2hGnupyntGhbnh Yuuwhwwg Jepwlnpngntd 5786,3 X 5786,3

Spwluwnpuwihlb uwnppwynpnidubn 1 0,0 X 0,0




Pynpbinwjh0 dwiuubph gnpéwrwlwl nwuwywpqiwb wyn pyntd’
Snn| Pw- | lun | w | pwdhGGEph, fudpbph L nwutiph, hGswbu Gwl pyngtitnwhG OGnWGhG
h | dh6 |p| v |6whuutinh nGnbuwghnwlws nwuwywnpgswh hnndwéGbph “7‘“+ 8“ duriun | -Saonaghe
NN wOywGnuiGepp (T Sy pjnLok pjnLok
1 2 3 4 5 6 7 8
Jwpswlwh uwppwynpnidbbip 4 600,0 X 4 600,0
Lwhuwqbwhbunwgnunwlywh Gwiuubp 825,0 X 825,0
2130| 01 | 3 | 0 |Chphwilnip plnyph dwewynipyniblbp 6 558,60 6558,6 0
nphg’ 0,0
2131] 01 Upfuwtnwijwqoh /4wnptiph/ gony pnhwlnip pGnijph 5 039,00 5039.0 0
wyn pyntd whuubiph yGpéwbnidip’ puwn pynepbinughb dwiuubph
UpfuwwnnnGlph wfuwwnwywpétp b hwytjwdswnpbbp 4 205,00 4205,0
tGtpgbinhy dwowynipntGGbp 2250 225,0
Ununtlwy SwnwjnieyniLlltn 10,0 10,0
LGuwh Gwnwnipyntbatin 58,0 58,0
Upunwgbnpwwntuswywl swihuutp 420,0 420,0
Uwulwghinwywl swnuwjnipjnLutn 41,0 41,0
UbtiptGwatph L uwppwynpnidGliph pGpwghy Gnpngnid L 60,0 60,0

gntlwywl whwnyputip 200 20,0

2133] 01 * 3 ' 3 !Dﬁnhw&nm pGnyph wy SwnwynipntGibp ~ = 181956 1519,6 0
wjn pYned swiuubiph ypdwhnidp® puwn pjnipbinwghl wiuubiph
nlnbuwghnwlwl nwuwlwpqiwb hnnjwébbph 0,0
hwiwywpgswihG SwnwynipyncGhtp 900,0 900
Luhpwunynipnil 619,6 619,6
Lhphwilnip plnyph hwipuyhl Sweuwynip/nt 606 (wy nwubphl

2160/ 01 6 0 supnlulng) 190 946,47 | 178 486,57 12 459,90
nphg’

2161 | 01 | 6 DG&T%’; pGnuyph hwlpwhG GwnwyntpntGGGR (| nwubphG 190 946,474J 178 486,574 | 12 459,900
w)n pyYntd dwiuubph bpswlnidp® pun pynpbnnwhG wluukph
nlnbuwghnwywl nwuwywpgiwb hnnwdlbph
Uzfuwwnnnlbph wzfuwwnwywpdtbp b hwybpwddwnbbp 823,31 823,31
EGpqbiwhly Gwnwjnipynialbp 130,098 130,098
undntGuwy SwnuwynipintGGlp 24,887 24,887
Ywuwh dwnwynipyntGatn 1,402 1,402
Stnthwwnywywh swnwynipyntGbbp 2750,0 2750,0 X
Yunwlwpswlwh dwnwjnipyntbbtin 0,0 X
Clnhwhnip paniyph wy) Swnw)nipntGatp 136 344,379 | 136 344,379
Uwubwqhunwlwh swnwynigyntalip 5900,0 5900,0 X
Spwluwnpuwgh Gynepbip 65,998 65,998
SwwnnLy bwwunwyuwihu Unupbp- 3600,0 3 600,0
Untpuhnhw(tp ng-dhbwluwlywl whnwywh
iU 14 400,0 14 400,0 X
LyhpwwnynpntGhtip wy whneyp shGnwwlnnn
JwgiwbtpwnipintGGEph s et X
U hwnytp 100,0 100,0 X
Twpuwnhp Yswnlbp 13 440,0 13 440,0 X
Chp-2hunipyniiitinh Ywnnignd 6 691,9 X 6691,9
Chlp-2hunipjnLliinh uwhwwi UnpngnLd 2393,0 X 2393,0
Lwuwgswlwwhw2ywjhl w2huwnwlpltn 1375,0 X 1375,0
Juwnswlwl uwppwynpnidutn 2 000,0 X 2000,0

SuLStUULUL IUrUREPNFE@3NFLLEN

el P e ‘ (nnn2410+wnnn2420+wnnn2430+wnnn2440+wnnn2450+wunn2460+nnn2470+wn 716 8575 i i
wyn pyncd’

2a20| 04 2 0 Ynipuinbinbunipynt 0, wlmweuyhl nlmbunip/ned, 97 585,3 18187.0 793983
dllnpunigyntl b npunpnnipintl
nphg’ Rl sl :
gjninwinGnbunipinii \ , . 18 187.0 181870
wyn pyYntd dwiuutiph ybpdwlnidp’ puwin pjnipbiinwhb dwiuubiph
nlunbuwghnwiwl nwuwywpaliw hnndwdébtinh
UzfuwwnnnGtiph wziuwnwywndbp b hwdbwydwpltp 16 187,0 16187
Cunhwuntp punypeh wj| dwrwjniejnLllbn 2 000,0 2000,00
Uwulwaghwnwlwl 6wnwynipjntGObp 0,0 0,0 X

np



2430

Lum pu_nm OLuruubnh L{hndwﬁnuﬁn num pJnLQthUJJhU Owruubnh

nlnbuwghnwywl nwuwlwnpgiwb hnndwdébph

904557

RynebinwhG dwiuubph gnpéwrwlwh nwuwywpqiwh wyn puUnid’
Snn| Pw- | bun | Pw | pwdhGGEph, fudptph L nwubph, hGswtu Gwl pjniebinw)hG GnwskG
h | op |ep| v |Swhubph nGnbuwghnwlwl nuuwlwngiwG hnndwéGtnh ”7‘“+ 8’1 RETT
NN wGywGnLiGEnp (.7 +u.8) g ]
EREEEYR , 5 6 7 8
losof o4 | o | 4 Jlman , . 79 398,3 0 79 398,3
wyn pyYntd dwfuubph Ypdwhbnidp® puwn pjniptinwghb dwiuutiph TN
nlnbuwghnwywl nwuwlwnpgiwb hnnjwébtph
WL ywwhwnwi npwdwglinph 0,0 0 X
Ctlp-2hunipjnilliinh Yunnignid 12 1153 X 12 115,3
Gtlup-phUnLpjnLlilph Yuuhww UnpngnLd 36 483,0 X 36 483,0
Lwhiwgdwlwhiwhw2ywihl w2fuwwnwlputn 30 800,0 X 30 800,0
04 dwnbifp b tobpgbuhlw 90 455,7 0 90 455,7

) | 904b57

2451

SwlwwwphwihG pwluynpn * win pyntd

' I 528 5165

Mwnuwnhnp ydwnutn 0,0 0,0

Ctiliptinh L 2hGnLpyntGlbiph Ywnenignid 59 105,7 X 59 105,7

Lwfuwqéwhbnwgnuwywh dwiuubp 31 350,0 X 31350,0
2450, 04 | 5 | o |Spwlbuwynmn 528 516,5 24370 504146,5

nphg’

24370,0 i 504146,5

wyn pYntd Swiuubiph YEpdwlnidp’ pun pjnigbuinwhl Swluutkph

nlnbuwghnwlwl nwuwlwpgiwl hnndwsbbph

295 009,699

Ghlptiph L 2hGnipyncGbtph pbpwghy depwlnpngnid 24 370,0 24370,0 X
Ctilptiph L 2hGnLpyntGObph unnignid 307 111,0 307111,0
Sklptinh L 2hGnipyniGbiph Yuwhwwy ypwlnpngnid 154 674,5 X 154 674,5
Lwhuwqdwhbnwgnunwywh whuubp 42 361,0 42 361,0
| T ooy | Wiy |
wjn pynid’
2510( 05 | 1 Unpwhwlnws nnhg 295 009,699 | 295 009,699 0,000

295 009,699

u/wznl/wﬁmz)

UzfuwwnnnGbiph wzfuwwnwywpdbp b hwdbwyswpbp 22 4357 22 435,7 X
Unintlwy wowjnipjntlibp 270 979,6 270979,6 X
Qnuph W uwppwynpnidubph Jupadwywinipini 50,0 50.0
Spwluwnpuiwjp Ynipbp 44,422 44 422
UbGgwnwihG L hwGpwihG uGGnh Ginupbip 1.000,0 1.000,0
Swwnncy Lywwnwyuwihu wy Wnceptp 500,0 500,0
UntLpuhnhw 0,0 0,0

seol 05 | 6 | o |crewhw dhewdwyph yuzunywlniygyml (wyy nuwubnhd 50 000.0 50000 0

2561

' Gngwum Shouwiwynh mmzmmwﬁmmmﬁ (g nwubnhﬁ

witnjwbn ,
Lum pyntu Owruubnh ytipéwlnwop num pJnLthLUJhU Owruuhnh
nlwntuwghnwywl nwuwlwnpgiwb hnndwdébtph

50 000,0

50 000,0

UzfuwwnnnGbph w2 uwnwywnpdbp b hwybwyswnGtp 283,5 283,5
Undntlwy SwnwynipyntlGbp 49716,5 49716,5 X
Untpuhnhw ’ 0,0 0,0 X
pLULUrULUSPL ChLUNUPNFE@3NEL B4 WNUNFLUL
2600( 06 0 0 ounusnr@3nku 344 012,2 107310,2 236702,0
(nn2610+wnnn2620+wnnn2630+wnnn2640+wnnn2650+wnnn2660)

win pyntd’

2610 06 | 1 | © F'ﬁwl/wﬂwﬁw/ﬁﬁ 2htwpwpnipynt 24 400,0 20 000,0 4 400,0
n

2611 06 | 1 | 1 [|POwywpwluyhl shGwpwpnipiniG 24 400,0 20000,0 | 4400,0
wyn pyYned dwiuubiph ypdwhnidp® puwn pjnipbunwghl owruubnh
inintuwehwnwywl nwuwlwnpgiwb hnndwdéhbph
GtUp 2hUniejnililnh pewghy Unpngnud 20 000,0 20000,0
ChGptiph L 2hlnipyntGbGEph Ywrnigned 0,0 0,0
Lwhiwqéwhbunwgnunwlwh 6wiuubp q 4400,0 4 400,0




Pjniptitnw)hG dwfuutiph gnpéwrwywl nwuwlwnpqiwb wyn pyntd’
Snn| Pw- | un | w | pwdhGGEph, fudpbph L nwubiph, hGswbu Gwl pjnipbinwihG OGnWGhG
h | dht |tdp| v |Swiuubph nGunbuwghunwywl nwuwlwpqiwb hnnywébbph (u?? +u.8r)J JuinswywG DnGnwjhG
NN wﬁl{wﬁnlﬁﬁbnn pjm_gb p]nLQb
1 2 3 4 5 6 7 8
2630| 06 | 3 | o |pwdwnwlwpwpnid 23 960,2 310,177 23650,0
nphg’
26311 06 | 3 1 [2pwdwinwlwpuwpntd 23360 177 'ﬁ310,177 23650
wyn pyntd Swiuubiph yGpowanidp’ puwn pynepbinughb swiuubiph
nbwnbuwghunwlwl nwuwywnpgiwl hnnwébbiph
tGEpgbwnhly SwnwynigniGhbip 52.7.36 52,736
Undntwy SwewynipntGObp 257,441 257,441
Gtlptph L 2hGnepyntGObph Ywenigned 0,0 X
Lwfuwgdwhbnwgnunwywh dwiuubip 23 650,0 X 23 650,0
2640 06 4 0 | @ninglbph (nLuwnpnd 295 652,0 87000,0 208652,0
nphg’
2641} 06 | 4 | 1 {[©ngnglbiph (niuwynpnid | 2956520 87000,0 208652,0
wyn pyntd dwiuubiph yipdwhnidp® puwn pyniebinwghl wiuutiph
nlntuwghnwywl nwuwywpgiwl hnnjwébiph
U2fuwwnnnGtph wzfuwwnwywndbp b hwdbwyswpbbp 93,5 93,5
EGLpqbwnhy Gwnw)nipyntbltip 66 906,5 66 906,5 X
Chiliptiph L Ywenyyglbph pGpwghy Gnpngnid b wwhwwlned 20 000,0 20 000,0 X
TMwnpuwnhp ydwputn
Chlpbph b 2hlnipyntGhtiph unnignid 189 402,0 189402,00
Ctlptph L 2hGnepyntG0bph Yuwwhwnwy yepwbnpngnid 0,0 X
Lwfuwqdwhbunwgnuwlywh Gwiuubkp 19 250,0 19 250,0
unnnaumulnkE@3ntu
s . 0 (nnn2710+winn2720+wnnn2730+wnnn2740+wnn2750+wnnn2760) 313705 0 31370,5
wjn pynid’
2760 07 | 6 | 0 |Uenpowwwhnipynil (wy nwubphl suuwnlwing) 31 370,5 0 31370,5
remn
Unnnowwwhwlwl hwpwihg 6wewjnipjniGitin Lopwgntn | 31 370,5 0 31370,5
wyn pyntd dwiuubiph yipdwhnidp® puwn pynipbinwhl wiuubiph
nlntuwghnwywl nwuwlwpgiwb hnndwdébbph
Chlpbph L 2hGnipyncbGbph uenignid 31 370,56 X 31370,5
3ULAhUS, UCULNF3M@ B4 urnu
e T 4 : (nnn2810+wnnn2820+wnnn2830+wnnn2840+wnnn2850+wnnn2860) 251496,3 111053,5 1404428
wjn pynid’
2810| 08 | 1 | 0 |Fwhguunp b uynpunp dwnwynipyniabn 3967,0 2592,0 1375,0
npha” T S S S
2811] 08 | 1 | 1 [Rwbiguuih b uunnuh SwewjncpiniGGhn | 39670 25920 | 13750
wyn pyned dwiuubiph yipdwhnidp® puwn pjniebinwhl wiuutbiph
nlnbuwghnwywl nwuwywpgiwb hnnjwdébbph
U2fuwwnnnbbph wpuwnwdwnpdtp L hwdbpwyswnbbp 92,0 92,00
Chlptph L YwrnygObph pOpwghly Gnpngned L ywhwwbnid 0,0 0,0 X
Fwuwnniy Gwwwnwlwihl wy) Gynepbin 0,0 0
Unppwlwh dowyntpwihl b uwynpunwihl Guwwuwnbbp pynigbihg 2 500,0 2 500,0
UdhpwwnynepyntGGEp wyp whniyp shGnwwlnnn 00 00
JuwquiwytpwnipjntGGEphG i ¢
Muwpuwnhp ydwpbbp 0,0 0,0
GGUp 2huntpeyncutph Ywnnignid 0,0 X 0,0
Ghlptiph L 2hGnipyntGObph Yuwwhww yepwbnpngned 0,0 0,0
Lwfuwgswhbnwgnuwlwh swiuubp 1 375,0 X 1375,00
28200 08 | 2 | O (Ypwlhmpuyhl dwewsmpnlobn 2454947 106426,9 139067,8
nphqg’ it L o]
2821‘ 08 Qpunupwaobp ' , . | 125305,100 { 40 540,000 | 84 765,100
wyn pyntd Swfuubiph yepéwanidp® puwn pynepbinnughb swiuubph
nbwnbuwghnwlywl nwuwywnpgiwb hnnywéatph
UzfuwnnnGliph wfuwwnwywnpdbip b hwybiwyswnlbp 27572 2757,208
CLanhwlnip pGnph w)p SwnwynipyntGOtbp 0,0 X

K S




PynLpbnnwhb dwiuutph gnpéwnwywh nwuwlwpqiwb wjn pynLd’
Snn| Pw- | fun| %w | pwdhGGbph, fudptph L nwubiph, hGswtu Gwl pyniptiwiw)hG DGnuoktp
h | dht |wip| v |Swhuubph nGnbuwghnwlwl nwuwlywpgiwb hnnywéGtph (U7 +1.8) Juinswywt DnGnwht
NN wOjwhnidGlpp Lotk pjnLob
1 2 3 4 5 6 7 8
Untpuhnhw0bp ng-phlwluwlywl whnwywh
Ywquislnunipm GGhphG 37782,792 | 37 782,792 X
Gtlp 2hUnipniliibnh unnignid 84 765,1 X 84765,1
Ny UjnLpwywu hhduwywu Jhpngutp
2823] 08 [ 2 Ugwliniyph i, wiyncdplp, YeGipnGbp | 15536151 | 5636151 | 9900,000
wjn pyntd dwluubph ypéwbnidp® puwn pjnigbitnuyhl wfuutiph
nlntuwghnwywl nwuwlwpgiwb hnnjwébtph
UzfuwwnnnGiph wzfuwwnwywndbp b hwdbwyswnpGbp 5 054,357 5054,357
EGtpgtivhy GwnwynipyniGhtip 579,911 579,911
UnintGwy dwewynipncGatp 1,883 1,883
Untpuhnhwbp ng-dhbwluwywl wtunwlwh 00 00 X
JuwqguwybpwnipyntGGGphG i '
Lwhuwqéwhbunwagnuwlwl wfuubp 9900,0 X 9900,0
2824| 08 Uy Gawyntpuyhl uqdwytnwnipynLlotp 60 000,0 60000,0 0
wyn pyntd Swiuubph yepdwbnidp’ puwn pjnigtitnwghG dwfuubiph
nlnbuwghnwywl nwuwlwpgiwb hnndwébbph
CanhwGnip plnuph wy Swowynipniltn 25000,0 25000,0
fupwhunLunwd Wwynypeh pbwgwywnnd 0,0 0,0
Swuniy GwywwnwywihG wy Ginepbip 35 000,0 35000,0
3Intpwpéwlbbph L ﬁzuuhnupt.ujhﬁ wndbgﬁbph ybpwywGalntd b t
2827) 08 | 2 | [ G 44 653,444 250,744 44 402,700
wyn pyYned dwiuubinh yipéwlnidp® putn pJnLQthLthU 6wfuubiph 0.0
nlwntuwghwnwywl nwuwywpgiwl hnnjwdébbph '
Uzfuwwnnnbph wziuwnwywpdbp b hwdbwydwptp 250,744 250,744
Chlp 2huntpjnililinh Ywnenignud 44 402,7 X 44402,7
2840| 08 4 0 |Ymbwlwl b hwowpwlwlhwl wyy oweuynip/ntGabn 2034,6 2034,6 0
nphg’ 0,0
2841| 08 4 1 |Ephnwuwpnuywb 6pwantip 0,0 0 0
wyn pYntd dwiuubph ypdwbnidp® puwn pjnipbiinwihl wiuubiph 0.0
nlnbuwghnwywl nwuwlwpgiwb hnndwébbph '
...................................................... ' 0,0
Lwnwpwlywb YniuwygnepyntGbtp, hwuwpwywlwh
2842) 08 4 2 JwquiwybpwnipyntGtin, wphdhnepyncGbtip 0.0 0 0
wjn pyntd dwluubph ypswbnidp' puwn pjnigbitnwyhG dwfuubinh 00
inlntuwghnwywl nwuwywnpgiwl hnndwébbph .

Upnlwlwo b hwuwpwlwlwl w)) GwewnipyntGGhn

0,0

2034,6

wjn pyncd Swluubph ybpéswbnidp' puwn pjnegtitnuyhG wfuutiph

nlnbuwghnwywl nwuwywpgiwb hnnjwébbph 0.0
tGtpgbwhy 6wnwynipyntGGbp 34,6 34,6
Uyhpwwnynipynibbbp wy) whneyp shGnwwlnnn
JuquiwybpwnipntGGGphG 20000 2000
UrENFH33NHL
2900 09 | O 0 | (nnn2910+1nn2920+nnn2930+wnnn2940+wnn2950+wnn2960+nnn2970+n | 1 641 718,2 | 1125301,7 516416,5
nn2980)

wyn pynid’

s010l o9 1 0 Lwfuwnupnguwlwl b mwﬂﬁwl/wﬁgﬁahwﬁmﬂ Yppnipinil 1364 722,6 9164245 448298 1
nphg’

[ 2011] 00 | 1 Lwuwnupngulwi yppnpjntl 1364 722,600{ 916 424,500 | 448 298,100

wjn pyncd dwiuubph yepéwbnidp’ puwn pjnigtitnuyhG dwfuubinh
nlnbuwghnwlwh nwuwlywngiwh hnnjwébtph
UzfuwwnnnGtiph wzfuwnwywpdtip b hwdbjwdswnGtn 624,2 624,178
Untpuhnhwtbp ng-ph0wluwywb whnwlwh
YwqswybpunipnLGGERNG 896 971,645 | 896 971,645 X
Clpwghy nnwdwpunph 18 828,7 18 828,677
Chlup 2hunipnLulitph Ywnnignd 276 508,1 X 276508,1
Ctlptph L 2hGnepyniGhtph Juwhunwy qtinwﬁnngqnui 103 040,0 X 103040,0




PynupbitnwjhG dwiuubph gnpéwnwlwh nwuwywpqiwb wyn pynLd’
Snn| Pw- | fun| 2w | pwdhGGEph, fudpbph L nwutph, hGswbu Gwl pjnLetitnwihb 0Gnwska
h | dhl |tdp| v [Swhuubph nGunbuwghnwiwl nwuwywpgiwh hnnwébtiph (u“7 0 BI)J Ywpswlw Pnlnwjh
NN whywGnLiGtpp Y ’ pjnLok pjnLok
1 2 3.l 4 5 6 7 8
Jdwnswywu uwnppwynpnidutin 0.0 X 0,0
Lwhuwqéwhbnwagnunwlywl whuubip 68 750,0 X 68 750,0
2020| 00 | 2 | o |“PPOwhng plnhwinip Gppnipynid 9978,9 0,0 9978,9

nphg’

|UnolGwlwna(iphy) plnhwhnip Yppnipjntl

wjn pYned dwiuubiph yipéwhnidp® puwn pJnLQbLnLthU dLul'uuhnh
nbwntuwghnwlywl nwuwywnpqiwb hnnywébtinh

Uj| Gwwuwnlbp pjnioting 0,0 0,0 X
Ctlp 2hunteynilutnh Ywnnignd 9978,9 X 9978,9
2050| 09 | 5 | o |Luwrdwhwpnuwllbbph snwuwlwngyng Yppnipintl 267 016,7 208877,2 58139,5

nphg’
Upthwnwpnguwlwl nwuwhwpwlnipintd

267 016,7

wyn pyYned dwiuubiph ypéwhnidp® puwn pjniebinwyhG dLul'uubnh
nlntuwghnwywl nwuwlwnpgiwb hnnjwébtph

2088717 2

681395

UntpupnhwGbp ng-phiwluwlwl wybnwlywh 205 987,7 205 987,7 X
Cupwghy npwdwaunph 2 889,5 2 889,5
Chlptiph b 2hGnipynibltiph Yuwhwwy YEpwbnpngnid 58 139,5 X 58139,5
unshuLUyUL MUTSMULNFB3NFL
3000| 10 0 0 | (wnn3010+wnn3020+wnnn3030+wnnn3040+nnn3050+nnn3060+wnn3070+wn 44 500,0 44500,0 0
nn3080+wnn3090)
win pyntd”
Unghuwywlwl hunnely wpwnmnlnepntG06n (wyy nwubinhli
3070( 10 7 0 swunnlywing) 44 500,0 44500,0 0
nnha’
s071] 10 7 1 Unghwiwlwl hwwnniy wpunnGnepyniGGbp (w)p nwubphG 445000 44500.0 0
suwinyuwlinn)
wyn pYnud Swhuubiph ypdwhnidp® puwn pjnipbiinwghl dwhuutbiph
nbwnbuwghnwywl nwuwlwpqiwb hnnjweébtnh
Ancnuipluidnpnipywl Gywuwnbtip pynigtihg 5000,0 5000,0 X
Uj) Gywuwnllip pjnigtihg 36 500,0 36 500,0 X
UyhpwwnynepyntGGtip wyp pwhneyp shGnwwlnnn
JuwquiwytpwnipyntGGbph 3 000,0 3 000,0 i
3100| 11 0 0 3hULULUL PUGhLLENPL 2UUYN MUINFUSUSPL dNLaGP 521723 521723 0.0
(1nn3110)
w)n pynid’
S 1 1 0 77 Jwrwiwpnipywl b hwiwyGplbph wwhniuunuwyfl pnln 52172300 521723 0.0

wyn pyned Swfuutinh L{hnéwﬁmdn puwn pjnipbnwhb Gwruubnh
nbnbuwghnwwh nwuwywpqiwh hnnweébtph

5217230

Muwhnruwnwyhb dhongbtip

521 723,0

521723,0

0,0

Shuwluwywu pwdlh w

UW2huwwnwywquh pwpunnt I

Jd. QuipphGywu

L. Uwhwljwu




